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4. Determine the displacement at the midpoint of a fixed beam of length 1 m with
uniformly distributed load of 6 kN/m through the span. Use two beam elements. Take
E =200 GPa and El =2 x 10* N.m%. [15]
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Answer any five questions
All questions carry equal marks
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2. Denve the stnﬁ‘ness matrix and consistent load vector for one dunensnonal quadratic
element. , [15]
3 Find the nodal dnsplacements and stresses in horizontal member and support reactions
y — of truss shown in the below ﬁgurc 1 o — —— [15] =
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For the composite wall shown in the figure 3 below, compute the interface temperatures
consndermg three elements. Take K;=5 W/m-K, K,=0.6 W/m- K, K;=20 W/m- K,
T,=100°C, T=400°C.

Figure 3

[15]

Derive consistent mass matrix for truss element and also write the lumped mass matrix

for the same element.

scuss -the lmponance -of semx-aytomatxc meshmg and- auto mesh along with t,lqe
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